## **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # 30717	API No. 15 - 195-22,392-00-00
Name: DOWNING-NELSON OIL COMPANY, INC	County: TREGO
Address: PO BOX 372	NE Sec. 14 Twp. 13 S. R. 22 East V West
City/State/Zip: HAYS, KS 67601	1670 feet from S / Ocircle one) Line of Section
Purchaser:	1400 feet from (E)/ W (circle one) Line of Section
Operator Contact Person: RON NELSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (	(circle one) (NE) SE NW SW
Contractor: Name: DISCOVERY DRILLING CO., INC.	Lease Name: JERRY Well #: 1-14
License: 31548	Field Name: WILDCAT
Wellsite Geologist: RON NELSON	Producing Formation: NONE
Designate Type of Completion:	Elevation: Ground: 2277 Kelly Bushing: 2285
New Well Re-Entry Workover	Total Depth: 4175 Plug Back Total Depth:
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 221.93 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	Control of the Contro
Well Name:	Prilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	Dining Fold Wallagement Flatt
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug BackPlug Back Total Depth	Chloride content 14,000 ppm Fluid volume 300 bbls
Commingled Docket No	Dewatering method used EVAPORATION
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
09/28/06         10/03/06         10/04/06           Spud Date or         Date Reached TD         Completion Date or	Quarter Sec Twp S. R
Recompletion Date Sompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workoy Information of side two of this form will be held confidential for a period of	n the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
Ill requirements of the statutes, rules and regulations promulgated to regulaterin are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature 180 De 1800	KCC Office Use ONLY
VICE PRESIDENT 10/12/06	
O 1	Letter of Confidentiality Received
subscribed and sworn to before me this 12 day of 0	If Denied, Yes Date:
0.06	Wireline Log Received
lotary Public: Michely & Mais.	Geologist Report Received RECEIVED
~/> ~ /00	HELE L. MEIER OCT 1 6 2006
ate Commission Expires.	TARY PUBLIC
	TE OF KANSAS Exp. 7/28/09 KCC WICHITA

Operator Name: DOW	NING-NELSON O	IL COMPANY, INC	Lease	Name:	JERRY	r	Well #: 1-14	<u> </u>	
Sec. 14 Twp. 13	S. R. <u>22</u>	☐ East	County	: TREG	0		= -		
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowing very, and flow rate	g and shut-in pressure s if gas to surface test	s, whether sl , along with f	nut-in pre	essure reached	static level, hydr	ostatic pressur	es, bottom hol	le
Drill Stem Tests Taken (Attach Additional S		✓ Yes	•	<b>V</b> L	og Formati	on (Top), Depth	and Datum	Samp	ole
Samples Sent to Geole	ogical Survey	Yes No		Nam	ie ANHYDRITE		Top 1712	Datun +574	n
Cores Taken		Yes No		ŀ	E ANHYDRITE		1750	+536	
Electric Log Run	1	✓ Yes		ТОР	EKA		3374	-1088	ı
(Submit Copy)				HEE	BNER		3606	-1320	
List All E. Logs Run:				TOR	ONTO		3624·	-1338	
<b>DUAL INDUCT</b>	•	•		LKC			3640	-1354	
COMPENSATI	ED DENSITY	<b>,</b>		ВКС			3879	-1593	
				MAR	MATON		3981	-1695	**************************************
		CASIN Report all strings se	IG RECORD	√ Ne urface, inte		tion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Pe	
SURFACE	12 1/4"	8 5/8"	20		221.93	COMMON	150	2% GEL & 3	3% CC
									•
		ADDITION	AL CEMENTI	NC / SOI	JEEZE RECORI			<u> </u>	
Purpose:	Depth	Type of Cement	#Sacks		DEEZE RECORT	<del></del>	Percent Additives		
Perforate	Top Bottom	Type of Cernetit				Type and	- ercem Additives		
Protect Casing Plug Back TD							,		
Plug Off Zone									
	25250247								
Shots Per Foot		ON RECORD - Bridge P Footage of Each Interval F				cture, Shot, Cemer mount and Kind of N			Depth
	•						,		
			<del></del>						
TURNO DECORD	Oi	Set At	D. J. J		13				
TUBING RECORD	Size	Sel Al	Packer A	N.	Liner Run	Yes N	0		*
Date of First, Resumerd	Production, SWD or E	Enhr. Producing N	1ethod	7	_	По	🗆		
Estimated Production	Oil	Bbls. Gas	Mcf	Flowin			III Utn ————————————————————————————————————	er (Explain) 	avity
Per 24 Hours									•
Disposition of Gas	METHOD OF (	COMPLETION	,		Production Inter	rval			
Vented Sold	Used on Lease	Open Hol	le Perf	. 🔲 [	Dually Comp.	Commingled .			
(If vented, Subi	mit ACO-18.)	Other (Sp			13	-	•		***
		•	न्यु अक्रमान्याः संबद्धाः (निशः वि	7 J. P.	10 m			•	
				ارتوزو ارتون دهمم میراند	The second se				

Downing & Nelson Oil Company PO Box 372 Hays, KS 67601

Jerry #1-14 14-13-22

## Formation Tops Continued

Name	Тор	Datum
Cherokee Shale	4024	-1738
Cherokee Sand	Absent	
Mississippi	4164	-1784
Arbuckle	4164	-1878

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665



Invoice Number: 104728

Invoice Date: 09/30/06

Sold Downing Nelson Oil Co.Inc

P. O, . Box 372 Hays, KS To:

67601

Cust I.D....: Down

P.O. Number..: Jerry 1-17 P.O. Date...: 09/30/06

Due Date.: 10/30/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	150.00	SKS	10.6500	1597.50	Т
Gel	3.00	SKS	16.6500	49.95	T
Chloride	5.00	SKS	46.6000	233.00	T
Handling	158.00	SKS	1.9000	300.20	Ē
Mileage	50.00	MILE		711.00	
158 sks @.09 pei	sk per mi				_
Surface	1.00	JOB	815.0000	815.00	Ε
Mileage pmp trk	50.00	MILE	6.0000	300.00	_
Date of Invoice. I If Account CURRENT	t, Payable 30 Days Fo 1/2% Charged Theres take Discount of	after. Ta 400.66 Pa	ubtotal: ax: ayments:	4006.65 109.06 0.00	
ONLY if paid withi	n 30 days from Invo	ice Date To	otal:	4115.71	

RECEIVED OCT 1 6 2006 **KCC WICHITA** 

Quality Oilwell Cementing Inc.

845 E Wichita P.O. Box 32 Russell, KS 67665

## Invoice

Date	Invoice #
10/4/2006	122

Bill To	
Downing Nelson Oil Co Inc 113 W 13th Hays Ks 67601	c

P.O. No.	Terms	Project
	Net 30	

		<u> </u>	<u> </u>	
Quantity	Description	Rate		Amount
	common		10.60	1,272.00Т
80			5.75	460.00T
	Celloseal		2.00	100.00T
	GEL		16.50	198.00T
	handling		1.90	402.80
12,720	.08 * 212 sacks * 60 miles		0.08	1,017.60
1	pump truck charge plugging		750.00	750.00
00	pump truck mileage charge		5.00	300.00
155	dry hole plug		45.00	45.00T
433	discount 10% if paid within 30 days		-1.00	-455.00
	LEASE: JERRY WELL #1-14			
	Trego county Sales Tax		5.80%	120.35
	·			
				•
		,	ļ	
	•	,		
			1	
	•			•
		חרפרוו		
		RECEIV	עם י	
			anne l	
		OCT 16		·
		KCCWIC	HIIA	
1				
İ				•
ŀ	:			
				İ
1				
			•	
Thank you for you	r business. Dave	<del>- \</del>	·	
-		Total		\$4,210.75
		i Ulai		⊅4,∠10./3